3 5 6 7 | 8
13 |vis_h 1 |M8x30 A
12 |vis_h 1 |M12x90 A
11 |Roulement_12x24x6 3 |Description part A
10 |Rotule SI8T_K - rotule 1 |Description part A
9 |rondelles_plates serie z 2 |Z8 A
8 |rondelles_plates serie z 2 212 A
7 |rondelles_plates_serie_m 1 |M8 A
6 |rondelles_plates_serie_ m 2 |M20 A
5 |rondelles plates_serie_m 2 |M12 A
4  |Goupille élastique - @4x30 1 |Goupille A
3 |ecrous_h 1 |M8 A
2 |ecrous_h 1 |M12 A
1 |1031-FUO1 1 |Left Axle A
N° Reference Qty Description Rev.
Project :
NANOSMOKE
Title :
Axle assembly
Main ol Reference : Rev.
ain tolerances . -
Geometrical : ISO 8015 1 031 FU A
- . Bended parts : NF E 86-050 - L . .
A | 20/05/2016 |T. Le Bars|T. Le Bars| T. Le Bars| First emission Machini s - ISO 2768 - mK _ | Material : Finish / treatment : Mass : Scale | Frame
et M il R : | oakg| | A3

Rev.

Date Designed | Checked |Approuved

Comments

Welded assembly :

ISO 13920 CL-A

This is property of Tanguy Le Bars, any reproduction, copy, or use of this document without a written autorisation is deemed to a penal proceude

5

6

7

8




	Feuille1
	Vue de mise en plan4


